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(1) S5=1 = a3 +by=1 — ,H,; =,C, =2
@ S5 =1—-a+b=1—,H=,C=2—2x2
® Sl =92 — al—i-bl:Q - 2H2:3C2:3 — 2X3
23] maty 2 X (1+2+3)=12
g
2981 (i) S =2 = a;+b; =2 — ,H, =,C, =3

® S5 =0—3x1

@ S, =1->a+b=1—>,H =,C, =2 3x2
® 8 =2—a+b=2—,H,=,C,=3 > 3x3
otata] 3 x(1+243)=18

(iii) S =3 — ay+b,=3 — ,H,=,C, =4

®© S5 =0—4x1

@ S, =1 a+b =1 ,H =,C,=2—> 4x2
® S =2—a+b=2—,H,=,C,=3 > 4x3
ojtf, a; =3, a; =22 FE AeJshof giet.
4x(14+24+3)—1=23




(iv) S=4 — ay+b,=4 — ,H,=.C,=5

® S5 =0—5x1

® S =1->a+b=1—>,H =,C, =2 5x2
ojtf, a3 =4, a; = 1% F= Alesfiof gt

® S =2->a+b=2—>,H=,C,=3 > 5x3
ofmj,

+= AeJshiof st
5x(1+2+3)—(1+3)=26

(V) S=5— a;+b,=5 (a; =4) = ,H,—1=,C
® S5 =0—5x1

® S =1 a-+b=1-,H=,C,=2—> 5x2
ojd,

—1=5

5

+ Alshor e

(ag’ b3) (ap bl) Al 7R
(0, 5) (1, 0) 1

(1, 4) (1,0), (0, 1)

(2, 3) (1,0), (0, 1)

(3, 2) (1,0), (0, 1)

(4, 1) (0, 1) 1

® S =2 a+b =2 ,H =,0,=3 > 5x3
o,

a, =4, a, =29 4%
a, =4, a, =12 4%
a; =3, a, =29 4%
b, =4, by =22 4%
by =5, b, =29 H¢
by=5. b =19 3%

+ AlQlshor et




A<

(“37 b3) (ap b1) ES
(0, 5) (2,0) 2
(1, 4) (2,0), (1,1) 1
(2, 3) (2,0), (1,1), (0,2)

(3, 2) (1,1), (0,2) 1
(4, 1) (0, 2) 2

5x(1+2+3)—(24+6)=22

(vi) 95=6 — a;+b;=6 (a3 < 4, b,

D 5 =0—>4x1=4

<

5) — ,Hy—3=,C;—3=4

@ 5 =1
(a3, bs) (al’ bl) N4
(1, 5) (1, 0) 1
(2, 4) (1,0), (0, 1) 2
(3, 3) (1,0), (0, 1) 2
(4, 2) (1,0), (0, 1) 2
A 7
@ S =2
(a:v bs) (ap bl) N
(1, 5) (2,0) 1
(2, 4) (2,0), (1,1) 2
(3, 3) (2,0), (1, 1), (0, 2) 3
(4, 2) (1,1), (0,2) 2
IA 8

o2tA 4+7+8=19

(vii) S, =7 — (ag, b3) :

® 5 =0—3x1=3

(2,5), (3,4), (4,3)

® S5 =1
(asv bs) (al’ bl) 7H 4
(2, 5) (1, 0) 1
(3, 4) (1,0), (0, 1) 2
(4, 3) (1,0), (0,1) 2
A 5

@ S, =2




(a3, bs) (ay; b)) 7H4
(2, 5) (2, 0) 1
(3, 4) (1,1) 1
(4, 3) (0, 2) 1

A 3

et 3+5+3=11

(vii) Sy =8 — (ag, bs) : (3,5), (4,4)
D 5 =0—2x1=2

® S5 =1
(a3, b3) (a17 bl) W4
(3, 5) (1, 0) 1
(4, 4) 0, 1) 1
A 2
® S5 =2— (X
242=4

(iX) 9 =9 — (a5 by) : (4,5)

171%]

oA
12+18423+26+22+19+114+4+1=136






